. 2015 EXAM I FOR ME 104

are allowed.
' VERY PRECISE DIAGRAMS FOR EACH PROBLEM.
o you.
'(DW nickname) is on each sheet,
ots are stapled together,
a8 possible,
up all the problems,
s that you may need are

r=re,
v = re, +rileg

a= (F - ri*)e, + (r + 2/)eq.

Q= ie; + l}ﬂn
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» 2: For parts d, e, f and g.

a launcher releases a projectile (m,4) with exit velocity vag (relative

are in the configuration shown, what are the
e = 0.5. You need to use the velocities from
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AO- It hits a second object before it goes around the loop and then
p together, which has a simple constant friction F' = C' (on the loop)
4 stay in contact with the loop. The objects then slide down the loop

e force diagram for the stuck-together body where it says "HERE" in the
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FRICTION
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NO FRICTION >
NO GRAVITY

s that results from the FBD/EFD.

of the slot, with respect to the observer at the end
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sctive force diagram for the body (ignore buoyancy)
ing differential equation for the velocity only (not the position
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